Percent - Fraction - Decimal Landscape of Problems I - IV
Word Problem Types
3 Dimensions: Objective, Application, Number Variation
16 objectives
I. Put a fraction into lowest terms.
	
	Common divisor is a number
	Composite (large) common divisor (e.g., 34 or 90) which could be broken down in parts
	Large prime common divisor which is evident because the numerator or denominator has a small number of factors

	
	
	
	

	Part to Whole ratio
	Part to Whole means that one number is a portion of the other number (which is the whole).  Express  in lowest terms.
	Twelve out of 28 students are on the football team.  Express the fraction  in lowest terms.
	If the fraction of made shots divided by attempts was , what is the fraction in lowest terms?
	Out of 1848 students, 22 had the H1P1 flu.  Express the fraction of students with the flu in lowest terms.

	Part to Part ratio
	Part to Part means the two numbers are two parts of a whole.  Express 8:10 in lowest terms.
	The ratio of silver to nickel in the ring was 20:28.  Express this ratio in lowest terms.
	The ratio of Steeler fans to Packer fans is 280 to 520.  Express this ratio in lowest terms.
	At the music concert the ratio of girls to guys was 485 to 388.  Express this ratio in lowest terms.



II. Put a fraction into higher terms.
	
	Express the fraction in higher terms when new denominator given (find numerator)
	Express the fraction in higher terms when new numerator given (find denominator)

	
	
	

	Part to Whole ratio
	Part to Whole means that one number is a portion of the other number (which is the whole).
	In the sample of water 7 ounces of contaminants were found out of 500 ounces in the sample.  How many ounces of contaminants would be in 1000 ounces?  Express  as a fraction with a denominator of 1000.
	The hand sanitizer kills all but 1 germ out of every 10,000.  If there were 80,000 germs on the hands and then the hand sanitizer was used, how many germs would survive?

	Part to Part ratio
	Part to Part means the two numbers given are two parts of a whole.
	In the recipe, the ratio of sugar to flour is 2:3.  If we have 15 cups of flour (and we plan to use all the flour), how many cups of sugar to we need?
	The mixture of week killer call for 7 ounces of chemical to 16 ounces of water.  If we have 35 ounces of chemical, who many ounces of water should be used? 


III. Rewrite an improper fraction as a mixed number.
	
	Whole number answer
	Mixed number answer

	
	Express as a mixed number: 
	Express as a mixed number: 

	Express the improper fraction as a mixed number
	If we have  sandwiches, how many sandwiches do we have?
	If we have  cups, how many cups do we have?  Express the answer as a mixed number.



IV. Rewrite a mixed number as an improper fraction. 
	
	

	Express the mixed number as an improper fraction
	We have 4 and three-eighths pizzas.  Express   as an improper fraction.
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